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, =(0.1204 )" = 0.453 m = 450 mm
21 2 1
V,, =27 pas2 = 9397 g 45):(0.011): =1.88 m/s

n 0.013

A=A +A+A (¢ V) bzl il inlae (4 V) dad Il qieuns @
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A=155x107 +1.40x107 +1.22x107% =4.17x107> km? = 41700 m?

90 1

t=11+ x— =11.80min
88 60

. 2880 _ 2880
t+20 11.8+20

Q=C-i-A=0.40x0.0906x41700=1096.22 m* /hr =0.42 m* /s

=90.6 mm/hr =0.0906 m/hr

s=21_gon
90
8 1
o- 0312 Jics
n
8 1
0.42 = 9312 D3(0.011)2
0.013
D, , =(0.167 )’"* = 0.51 m = 500 mm
21 2 1
V,, = 0397 p3g2 - M(0.50)5(0.011)5 =2.02m/s
n 0.013

A=A +A+A A (0 -1) dasll Gayunill dnlise (0 =8) dadll quouni @

A=155x107+1.40x1072 +1.22x1072 +1.05x1072 =5.22%x107* km* =52200m?

90 1

t=11.8+ x— =12.54min
02 60

i_ 2880 2880
t+20 12.54+20

Q=C-i-A=0.40x0.08851x52200=1848m’ /hr =0.51m*/s
91-90.2

S="""""-82888x10""
90

=88.51mm/hr =0.08851m/hr

8
o 0312

n

0.312
0.013

D, =(0.225)"" =0.572 m = 570 mm

1
S 2

1

0.51 = D§(8.888 x10 7 )2
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21 2 1
V,, = 0397 s - %(0.57)3(8.888x10‘3 o =1.98m/s
n .
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